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22

7

(i) a:2=b: 5Qa, b -a PU % 9z A

(a) 20
(b)30

(c) 40
(d) 50

(ii) qfofaycefoo 12g sec 0, 1 4R tan 0, (0

1x6=6

90°)2fagabgyN AUAs

(a) 30°

(c) 60°

(b)45°

(d)90°

ZD-4864
(Contd.)



(iii) EiA ASA� 27, 31, 46, 52, x, y + 2, 71, 79, 85, 90 � (AJA ATA� 64 2L

(a) 125

(c) 127

(b) 126

(d) 128

(a)

(c)

XYZ

1200

XYZ
200

(b)

(d)

XYZ

100

XYZ

120

(a) 20°

(c) 40°

(b) 30°

(d) 50°

2.

(a) 25% (b) S0%

(c) 100% (d) 200%

(i) x(4 -3)=y(4 + V3)=1 ,SRLET X tyrA
(i) 7 sin 0 +2x cos = 1 ,94X4T AQA

1x5=5

2
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(ii) 0° <e <90°osin 9< sin 0 LA|

25

36
Qo, k- A 12.

1x5=5

(iii) ART AIH=2 x AA-3 x Cfj aG|

(v) ABCD

(*+ y)

qtq82 Syg| ZADB = QR ZABD = yo o,ZBCD 43a

4 2x10=20

PT 4A tgatalZSPT =80°2A LOST 4g A|A PGO ?

(iii)ABCD NO(FT4A QSJYA OfAqOyaesR OB =6G,OD=8AN 4R

(iv) sin (0+30°)=cos 15° Q,cos 20 4% AO ?

(v) cos esin'0=1, 1-2sin'0 4 aafAUA|
3
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(x) (ILJN AS B4 GCAS as302,Gtg 5%

Q61

tg 3 B 4 798 Dr

(xi) = 3 4
3x+4y + 8z

x+3y

5

(xii)x y qqRy= a,Íx =2a 23vAR:y g

Q6152

LA�I

6.

164 (a

X +3+X-3
X-3

RSM

RSM 3
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7.

(i) af

RSM

3

8.

9.

(i)af=
4N15 x+ 20ax+ 12

V5+3 V20x- 12

SM

S153676

SiM

Q515p6

i) af (b +c-a)x=(cta- b) y=(a +b- c) z=23, G

(ii)
A a+2

a-2 x+y

RSM

Q6

2a4 A A

3

3

(i)ABCfyca fA 0'4R OD L BCCA AUA� ZBOD= ZBAC.

5
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(i) sin x=m sin y q tanx=n tan y N GACH3C cosx=

(ii) tan 0=
5 5 sin + 7 cos 0

7 7 sin +5 cos

RSM

Q61536

RSM

Q615p676

m1
3*2-6

53676

2SM
Q653676

4x2=8

RSM
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4x2-8

10-20 )

08

20-30

12

0-10 n 10-20

10

0-10 I0-20 20-30

1

6153676

15

30-40 40-50

20 22

20-30 30-40

25 30

30-40 40-50

20 15

50-60

18

40-50

50-60

6

60-70

20

50-60

10

60-70

5
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23

2x3-6

D
(iv) sin x =cos (x -20°) x 4gA 0 ?

1x4=4

(i) ax + bx + c = 0 (a 0)

(at c) 4A A 0 ?

A(1A 9�A A UAJIJF 8 RIasb43 A

faRt ? O0 676

RSM
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